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dentify the test (circle one):

1.4 ignificance test for one proportion (1-PropZTest)

2. Significance test for the difference of two proportions (2-PropZTest)
3. Significance test for a mean (T-Test)

4. Significance test for the difference of two means (2-SampT Test)
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Yes/No

Conclusions: s
(Circle one) We re_]ec@he null hypothesis.

Explain in context.
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Tdentify the test (circle one):
ignificance test for one proportion (1-PropZTest)
2. Significance test for the difference of two proportions (2-PropZTest)
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entify the test (circle one):
1. [Significance test for one proportion (1-PropZTest)
9. Significance test for the difference of two proportions (2-PropZTest)

3. Significance test for a mean (T-Test)
4. Significance test for the difference of two means (2-SampTTest)
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Conclusions:

(Circle one) We rejeaf/don’t 1'ejecf; he null hypothesis.
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Blawse plwe = 7807 >.05 we doat (HF\HA' the nul( hypo{%w:‘{
TC S0% ov ¥e ildren P”’JF‘W‘U’@ CCNL{ Quer ‘L(’Gl%ygf Thon i
world be qmjfe, “W[z’ (P'C“C‘E‘l‘w 3"3,02/%> I et a \SC'M’,G{(’ Gy

7% L AR thea 148 ot of &3 (,L\JH"QW Pre‘/LE’Naj
L‘v"\,é‘{ 9141 ‘I’OYS

1



\)38 uf ;:Ur ché‘*p UAA ‘LZ (:Or [QGLAr

Y= 1o\f?'00 \/lz: Q??'Ef@

x= & 1Y K= S0

A 5, = 3600

P = .03 P2 S9gb = . S5

l E)QUIL Suw‘AEJ NE RN (b\‘&m@écr] w“\(:lCm (/Vld
Mc[ﬁf?é’ili@n'“u( OF ¢ach oher

9- gy = Xa <EFUL>S “
(i-f) = W= = 10~ 1K > 57
Mo, = X2 = 3800 75 <
ro(1-6) = N2 =650 =300 > 57

57 l0W= 297009 < tdal nunber o U Howeholds
OV]'/_ = bt g(pO < +0+CtL aamber g€ OO "U&Je”lold(

[ IQCL4
/‘ e
P \~P)
(P\ ?1) Z’% \ LV\L PZ( Z U
o ‘M%)i 1 LEL @M@
22700 756

05(06(0[0[59 %WO (‘OvLF clévtCC ml{fwa
_0E304%( FUr P—"P
2



Al DO ¢ U e M
)(1:%5 X1 = 10
W =273 N = L7Y¥

=0 =2
= 22 2. K065 - L 3147
P T 1T 1473

Find 2 W% contidonce wheeual for R=P,

(edt condiiions
17 Pbheve xerdm geeples ond wde peadent
9 W?\.. =93 >65

Yh,[\'Pt] n-x=17I-132 5

opy =0 S0 75

a )= Yo % 12§ 0> 5

37 {00, = 7730 < Yokl awnber of DC
LOWy = 17%0 < Fotal umber A mm

0% co-kodence wdecanl o PP -

(-—-—AZBZ, OO(?OQ))
%TTHW’!WTFW

_I_,_’——F———‘— |
_ (5 s -.05 0 .05

iy



